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Group Mean Difference in Mean P Value
All WLT£4669 207801121 <0.0001
U&D 220.9 +£10.19
All PLTE4669 510446920  <0.0001
Con 313.6 £5.108
).9 +10.19
V&b 220.9£10.19 92.71 £ 11.40 < 0.0001
Con 313.6 +5.108
Group Mean Difference in Mean P Value
All 42.03£0.0928 2.397 £0.276 < 0.0001
U&D 39.63 £ 0.2600
Al 4203200928 13401239 <0.0001
Con 42.77 £ 0.0821
39.63 0.
V&b 9:63%0.2600 3.139 £ 0.2726 <0.0001
Con 42.77 +£0.0821
Group Mean Difference in Mean P Value
All 0.1942 +0.0002 0.0729 £0.0054 < 0.0001
U&D 0.2671 £ 0.0050
All .1942 + 0.0002
0.1942.%0.000 0.0226 £ 0.0026 < 0.0001
Con 0.1716 £ 0.0017
u&b 0-2671+0.0050 0.0956 +0.0053 < 0.0001
Con 0.1716 £0.0017
Group Mean Difference in Mean P Value
All 0.4139£0.0016 () 1055.+0.0038  <0.1411
U&D 0.4195 +0.0034
All 0.4139=0.0016 0.0017 £0.0024 < 0.4844
Con 0.4122 +0.0018
4195 +0.003
V&b 0419500034 0.0072 +0.0039 < 0.0606
Con 0.4122 +£0.0018

Al



